
PHONE mount extension
CONSTRUCTION MANUAL

Time to build 25 min



Phone mount extension

1

version 1.1

A

B

C

+++

.87inch | 200mm              
le              

9.45inch | 240mm              
 Profi le              1x

Profi le nut short

1x
Bolt M8x20

1x   
  T-Positioning block

2x
Multi angle joint

1x

+

1.57” | 40 mm

 

Double check here:
Does your result looks exactly like 
the image at the bottom of the page?

 

First, get all 
required materials 
stated here and 
then follow the 
instructions.

Tighten the bolts with full force. 
Ensure that you hold the long side 
of the Allen key in your hand as this 
enables you to exert greater force.



You can fi nd a digital copy of the manual at the following web address: 

of serious injury: use only under close adult 

lose control, fall off  and/or get into dangerous 

The rides that you can fi nd in our manuals 
been tested by offi  cial independent testing 

diff er from the offi  cial rides that we show in our 

 Construction/assembly of a ride should  

    specifi c ride. 

offi  cial Infento manual.

fi nd the maximum weight for every specifi c ride 

maximum length for every specifi c ride.

recommend riders always wear a properly fi tted 

or fl ooring, by use of an Infento ride indoors. 

the amount specifi ed in the manual

allow the chain to slip off  the sprockets. 

Check frequently if all 

parts are still fi rmly 
tightened and function 

properly.

Constructing and 

playing always under 

supervision of an adult.

Tighten bolts with full 

force (15Nm) to prevent 
them from coming loose.

TOP 3 REQUIREMENTS MAKING  A 

GREAT INFENTO EXPERIENCE:

1

2

3



Phone mount extension

2

version 1.1

A B

+ ++

             
le              

3.15inch | 80mm              
 Profi le              1x

Profi le nut short

1x   
  T-Positioning block

2x
Parrellel clamp joint L-joint

1x Bolt M8x20 
(low head)

1x

+

 

Double check here:
Does your result looks exactly like 
the image at the bottom of the page?



Phone mount extension

3

version 1.1

A B

+ +

Profi le nut short

1x  
  T-Positioning block

1xBolt M8x20 
(low head)

1x



Phone mount extension

4

version 1.1

Protect cap

3x



Phone mount extension

5

version 1.1

+ +++

take a 5mm 
Allen key, slide 
the nut on it

stick the Allen 
key through 
the part

let the nut
slide down

NUT-IN-PART-TRICK

2

1

3

2x

 
 Positioning block

4x
Locknut M8

2x
Axle clamp

2x
Multi angle joint

 Clamping par
 holes without threa

2x
Bolt M8x25

2x



Phone mount extension

6

version 1.1

A B

C D

++

Brake caliper holder Bolt M6x25
4x

Locknut M6

4x
Bolt M8x20

1x
Washer M8-24

1x

+

 

Note!

Determine the position, 
based on the image you want 
to capture.



Phone mount extension

7

version 1.1

A

B

C

 

++

Knurled disc 2 stripes Bolt M8x35

1x
Locknut M8

1x
Knurled disc 2 stripes

1x

Note!

Adjust the angle to 
accommodate the image you 
want to capture.



Phone mount extension

8

version 1.1

A

B

C

 Note!

Determine the position, 
based on the image you want 
to capture.

+++

Profi le nut short

1x
Bolt M8x20

1x   
  T-Positioning block

2x
Multi angle joint

 Clamping par
 holes without threa

1x



Phone mount extension

9

version 1.1

A

B

C

 

++

Knurled disc 2 stripes Bolt M8x35

1x
Locknut M8

1x
Knurled disc 2 stripes

1x

Note!

Adjust the angle to 
accommodate the image you 
want to capture.



Phone mount extension

10

version 1.1

A B

C D

 

Note!

Never use a phone without a 
protective case.

  40x80_hexa 19

Brake cable clip

 belt pulley 46T

3x

 

Note!

Double check before every 
use that the phone is tightly 
secured.



THANK YOU FOR READING ME!

PHONE mount extension


